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Ответы

об. 106⁄7

1. 112⁄6

2. 105⁄8

3. 151⁄2

4. 183⁄8

5. 121⁄2

6. 134⁄10

7. 134⁄8

8. 105⁄9

9. 75⁄9

10. 197⁄9

11. 132⁄4

12. 166⁄7

13. 72⁄3

14. 161⁄2

15. 104⁄6

16. 93⁄5

17. 101⁄3

18. 175⁄6

19. 121⁄6

20. 141⁄2

Разложите каждую неправильную дробь.

об)
7 27

7
= 106⁄7

1)
8 20

6
= 112⁄6

2)
6 37

8
= 105⁄8

3)
5 21

2
= 151⁄2

4)
10 67

8
= 183⁄8

5)
8 9

2
= 121⁄2

6)
9 44

10
= 134⁄10

7)
3 84

8
= 134⁄8

8)
8 23

9
= 105⁄9

9)
3 41

9
= 75⁄9

10)
9 97

9
= 197⁄9

11)
6 30

4
= 132⁄4

12)
7 69

7
= 166⁄7

13)
3 14

3
= 72⁄3

14)
8 17

2
= 161⁄2

15)
5 34

6
= 104⁄6

16)
2 38

5
= 93⁄5

17)
5 16

3
= 101⁄3

18)
8 59

6
= 175⁄6

19)
10 13

6
= 121⁄6

20)
9 11

2
= 141⁄2
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